Figure 2e

us7
THZ1 [pM] 0 0105 1 THZ1 [pM] 0 0105 1
PRpb1 250} e —_— - Rpb1 25— ...! bl
0.42 0.01 0.02 T ™7 v oom -
THZ1 [uM] 0 0105 1 THZ1 [uM] O 0.1 05 1
— Actin 42— | —— - " - s o
Mcl1 w—l--— - !
1 0.8 0.17 0.05
Figure 2e
GBM22
THZ1 [pM] 0 0.1 0.5 1 THZ1 [pM] 0 0.1 0.5 1
pRpb1 250} I_-
1 0.2 0.08 0.05 Rpb1 230
0.17 0.07 0.07
THZ1 [uM] 0 01 05 1 THZ1 [uM] 0 01 05 1
Mcl 4o Actin 42

w
)
o




Figure 2f

U87, 24h
THZ1 [uM] O 01 05 1 THZ1 [uM] 0 01 05 1
Mcl1 40— — — Noxa 1+— SRCN———
0.97 053 3 85 086 038
THZ1 [uM] 0 01 05 1 THZ1 [uM] 0 01 05 1
Bel-xL 20— —— —
Bcl2 2

0.75 0.58

THZI [uM] 0 01 05 1

——--’

Actin 42—




Figure 2f

U251, 24h
THZ1 [uM] 0 0105 1 THZ1 [uM] 0 0105 1 THZ1 [uM] 0 0105 1
230 230
180 180
116 116
66 66
Mcl1 I
= 40 N—
BCI2 | v
12 %
W Noxa
—
7.2 2 2.44
THZ1 [uM] 0 0105 1 THZ1 [uM] 0 0105 1
230
230
180
180
116
Vinclulin | 176- [ e N
66
66
il
Bcel-xL — 40
12
12




Figure 2f

LN229, 24h
THZ1 [upM] O 0.1 05 1 THZ1 [uM] O 0.1 05 1
Mcl1 o - —
Noxa 11—| = —— —
a2 4 0.03
THZ1 [uM] O 01 05 1 THZ1 [pM] O 01 05 1
Bel2 2] — — Bel-xL o == == —
85 0.38 048 7 027 02
THZ1 [pM] O 01 05 1
Actin 42— ] s w— —




Figure 2f

GBM22, 24h
THZ1 [pM] 0 0105 1 THZ1 [uM] 0 0105 1
1 0.008 0.002 0.014
Noxa H—| n——— |
Mcll so— | ™= -
THZ1 [uM] 0 0105 1 THZ1 [pM] 0 0105 1
Bel-xL 30— | ==«
06 043 04
Bel2 22| |- — —
THZ1 [uM] 0 0105 1
Actin 4> . — — — ———




Figure 3d

U87, 24h
THZ1 [uM] 0 0 0.1 01 THZI [uM] 0 0 0.1 0.1
Mclt "o o o
0.92 8 8 i
s le=gL Noxa 1+ = — e
ABT263[UM] O 1 0 1 ABT263[UM] 0 1 0 1
THZ1 [uM] O O 01 0.1 THZ1 [pM] O 0O 01 01
Bcl2 ze+ — Bel-xL 30— == = - an
185 037 133
— — — — 87 052 048
ABT263[uM] 0 1 0 1
THZ1 [uM] O 0 0.1 01

Actin 42—




Figure 3d

ABT263 [uM]
THZ1 [uM]

01 0 1
0 0 0101

U251, 24h

ABT263[uM] 0 1 0O 1
THZI [uM] O O 0.1 0.1

Mcl1 40—

Noxa 11—

ABT263[uM] 0 1 0 1

ABT263[uM] 0 1 0 1

THZ1 [pM] O O 0.1 01 THZ1 [pM] O 0 0.1 01
123 0983 313
ABT263[uM] 0 1 0 1
THZ1 [pM] O O 01 01
Actin 42+




Figure 3d

LN229, 24h

ABT263 [uM] 0 1 0 1
THZi M 0 0 01 01

ABT263[uM] 0 1 0 1
THZ1 [uM] O 0 01 0.1

Noxa 11—

Mcl1 40 | *=+ .

1 ABT263 [uM] O 1 0 1

ABT263[uM] 0 1 0
THZi [uM] 0 0 0.1 0.1

THZ1 [uM] 0 0 01 01

Bcl2 2z . e - da—
Bcel-xL 2

ABT263[uM] 0 1 0 1
THZ1 [uM] 0 0 01 0.1

Actin s2—{| w— c— — —

ha
4



Figure 3d

GBM22, 24h

ABT263 [uM] O 1 0 1 ABT263 [uM] 0O 1 0 1
THZ1 [uM] 0 0 0.1 0.1 THZ1 [uM] O O 0.1 01

Mcl1 40— a8 v

e Noxa 1+— B

87 0.2 0.2
07 027 0.22
ABT263 [uM] O 1 0 1 ABT263[uM] 0 1 0 1
THZ1 [uM] 0O O 0101 THZ1 [uM] O O 01 01
Bel2 2] e = Bel-xL 20— i

ABT263[uM] 0 1 0 1
THZI [uM] 0 0 01 0.1

Actin 42

15 053 0.51




Figure 4e

u87, 24h

ABT263[uM] 0 1 0 1
THZ1 [uM] O 0 0.1 0.1

PARP 11— S SESSEEES_

ABT263[uM] 0 1 0 1
THZ1 [uM] O 0 0.1 0.1

ABT263[pM] 0 1 0 1
THZ1 [uM] 0 0 0.1 0.1

aeee | FL
CF

I -
CP9 3 -

-
=
" e - -—— -

ABT263[uM] 0 1 0 1
THZ1 [uM] O 0 0.1 0.1

cCP3 1 - - T Ee
ACt'n 42— . — — — — - —
Figure 4e
U251, 24h
ABT263[uM] 0 1 0 1 ABT263[uM] 0 1 0 1
THZ1 [uM] 0 0 0.1 0.1 THZ1 [uM] 0 0 0.1 0.1
i | - - FL
CcP9 3= R ...: s
8 1.59 0.45 - e —-—— -
74 022 186
ABT263 [uM] O 1 0 1 ABT263 [pM] 0 1 O 1
THZ1 [uM] 0 0 0.1 0.1 THZ1 [uM] 0 0 0.1 0.1
— — — — -

cCP3 ] -

0732 85

10

Actin 42—




Figure 5¢

siMcl1-4 - - + - - +
siMcit-3 - + - - + -
SINT + - - + - -
ABT263[uM] 0 0 0 1 1 1
Pare ' | EEEES
i 2 08 08

siMclt-4 - - + - - +
siMct-3 - + - - + -
SINT + - - + - -
ABT263[uM] O 0 0 1 1 1
cCP3 10 -
siMcl1-4 - - + - - +
SIMCH-3! == F = =2 7 5
SNT + - - + - -
ABT263[uM] 0 0 0 1 1 1

Actin 42—

T —— > —

11

siMcl1-4 -+ - -+
siMcl1-3 £ = =g E
SINT S
ABT263 [uM] 00111
47— -

CP9 7  ceam=
siMcl1-4 -+ - -+
siMcl1-3 Ttk
SiNT - -4 - -
ABT263 [uM] 001 1 1

Mcl1 40—

FL
CF



Figure S1d

GBM12,24h

THZ1 [UM] 0 01 05 1 THZI [uM] 0 01 05 1

Mclt so| == NoXa

THZ1 [pM] 0 0.1 05 1 THZ1 [M] 0 01 05 1

Bcl-xL 20

Bcl2 22— | —

THZ1 [uM] 0 0.1 05 1

Actin 42 - e S —

12



Figure S1d

THZ1 [pM]

0 01051

Mcl1 4]

THZ1 [uM]

0 01051

Bcl2 2

THZ1 [uM]

0 01051

Actin 42—

13

KNS42, 24h
THZ1 [uM] 0 0.1 051
Noxa 1—|
THZ1 [uM] 0 01 05 1
Bel-xXL 20 | v v




Figure S5d
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Figure S6i
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Figure S6i
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